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Truck tyres are made using vuleanised synthetic rubber combined with high
tensile steel wire

Explain wh this combination of materials has been chosen.

Rubber hes the following propertis that make it suied to tyre construction;
resilience, wea resistance, formability, and high cocfTicient of fiction. However, it
is highly flexible and elastc, Rubber would be too flexible by isel£. Vulcanised
synthetic rubber added (5%) to ncrease oross lining which malkes the rubber more.
reslient, wear resistant and stronger but maintaining flexibily.

High tensile steel wire gives the yre more rigidity, impact resistance, in the tread
and tensile strength in the bead so that t will bed firmiy on the wecls. Itimits
distortion of the rubber.
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One major advantage of plywood over solid timber is:
(@ itisawsitable inlrge sheets
b itis more waterproof
© cxpensive veaeers can be put on the inside layers
d it can be bentand curved (o any shape.
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